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iz 5 < FUE=THER Py A+ REEER KB YNBSS ERRE
BEEEAE
OARE T4 | B~ BK [k /n| T8 BA~BK |k /n| T8 Bh~BX |k /0| T | Bh~BK |k / n| FH| B~ BK |k /
FRNA) 12 cis 0.0310.02 ~ 0.04 (12 / 12/0.008( 0.006 ~ 0.011(12 / 12 <0.01 0/ 2 ~ / ~ /
FiaN(Q2) EINE=EE 0.0310.02 ~ 0.05(12 / 12/0.017| 0.005 ~ 0.028 (12 / 12 <0.01 0/ 2 ~ / 0.036(0.029 ~ 0.043|4 /
LR ERAB 0.02 |1< 0.01 ~ 0.04 (10 / 12/ 0.053| 0.031 ~ 0.10 (12 / 12 <0.01 0/ 2 ~ / 0.0260.023 ~ 0.032|4 /
M AOR PN i 0.01 |<0.01 ~ 0.03 (8 / 12/0.047( 0.029 ~ 0.076 (12 / 12 <0.01 0/ 2 ~ / ~ /
ENTRQ) | S04 0.04 1003 ~ 0.07 (12 / 12/ 0.17 | 0.090 ~ 0.24 (12 / 12 <0.01 0/ 2 ~ / 0.037(0.028 ~ 0.043|4 /
BRI LR (1) [HETHE 0.03 1< 0.01 ~ 0.06 (3 / 4]|0.015( 0.008 ~ 0.026(4 / 4 <0.01 0 / 4] 230 20 ~ 550 |4 / 4 ~ /
BRI LR (2) |=&KEB 0.03 | 0.01 ~ 0.08 (1 / 4]0.015( 0.010 ~ 0.024(4 / 4 <0.01 0 / 4] 160 22 ~ 210 (4 / 4 ~ /
IR RIIE 0.02 1001 ~ 003(4 / 4/0.014( 0.009 ~ 0.023(4 / 4 <0.01 0 / 4| 460 190 ~ 610 |4 / ~ /
NEN Q) |ERE 0.11]10.02 ~ 0.30 (12 / 12/ 0.094( 0.046 ~ 0.13 (12 / 12 0.01 [< 0.01 ~ 0.02 |6 / 12 ~ / ~ /
RENQ) | KB 0.04 1< 0.01 ~ 0.09 (11 / 12/ 0.044( 0.032 ~ 0.054 (12 / 12 <0.01 0/ 2 ~ / 0.055(0.040 ~ 0.068|4 /
AEN3) EKiE 0.02 | 0.01 ~ 0.07 (7 / 12|/ 0.046( 0.027 ~ 0.057 (12 / 12 < 0.01 0/ 2 ~ / ~ /
AEN3) RENIBEFERE 0.02 |1 0.01 ~ 0.04 (7 / 12/0.048( 0.025 ~ 0.065(12 / 12 < 0.01 0/ 2 ~ / 0.045(0.038 ~ 0.051|4 /
HRIILER |LEHiE < 0.01 0 / 2]0.004|<0.002 ~ 0.005|1 / 2 < 0.01 0/ 2| & 12 ~ 100 |4 / 4 ~ /
HBRIITH [ILRE < 0.01 0 / 2]0.004|<0.002 ~ 0.005|1 / 2 < 0.01 0/ 2| 80 15 ~ 200 |4 / 4 ~ /
HRIITHR |[LABE ~ / ~ / < 0.01 0/ 2 ~ / ~ /
BRI |ERAR ~ / ~ / ool [0/ 2 = / = /
BRIITHR |REE ~ / ~ / < 0.01 0/ 2 ~ / 0.028]0.020 ~ 0.033|4 /
R TR | IR = / ~ / ool [0/ 2 = / ~ /
I N HIE < 0.01 0 / 1]0.011 0.011 1/ 1 < 0.01 0 / 1] 150 94 ~ 200 (2 / 2 ~ /
I ERIE 0.02 0.02 1/ 1]0.025 0.025 1/ 1 < 0.01 0 / 1] 180 85 ~ 280 (2 / 2 ~ /
FER I FAEE 0.08 0.08 1/ 1]0.025 0.025 1 /1 < 0.01 0 / 1] 200 200 1/ 1 ~ /
INEIEFR | E& - RERMERS 0.02 ( 0.01 ~ 0.03|4 / 4(0.014] 0.008 ~ 0.026|4 / 4 < 0.01 0 / 4] 45 6 ~ 95 |4 / 4 ~ /
INBNTTFGR /NS 0.01 | 0.01 ~ 0.01 (1 / 2]0.028( 0.014 ~ 0.041(2 / 2| 0.01 <0.01 ~ 0.01 |1 / 2| 110 33 ~ 200 (4 / 4]0.042|0.036 ~ 0.047|2 /
K& /% 0.07 0.07 1/ 1(10.16 0.16 1/ 1]0.02 0.02 1/ 1] 9% 7 ~ 110 (2 / 2]0.090 0.090 1/
W& TIRIE 0.01 0.002 0.01 1 0.004
GE) 1 k. nOKIEHETRELL EOBREH T, n[TREEKTT,

2 FEHEFHRETRELLOBBEFEHEOCFERTEHETT,
3 KIGE#H (B 100mL) ZFRE. BEfildmeg /LTY,
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REEETA
ol ¥ | BM~BK [k / n| Y Bh~BK |k / n| Y| BP~BK |k / n|FH | BP~BXK |k / n|FH | BP~FX [k / n
BFINLER |ZEE 0.02 |[<0.01 ~ 0.03|3 / 4]0.014| 0.010 ~ 0.022(4 / 4 < 0.01 0 / 4] 110 26 ~ 170 |4 / 4 ~ /
BHINITR [FA&HE 0.02 |[<0.01 ~ 0.02 3 / 4]0.014| 0.006 ~ 0.020(4 / 4 < 0.01 0 / 4] 390 [ 150 ~ 1000 |4 / 4 ~ /
AEN =Ll 0.01 |[<0.01 ~ 0.01 |1 / 4]0.010| 0.005 ~ 0.019(4 / 4 < 0.01 0/ 4] 34 6 ~ 59 |4/ 4 ~ /
) =G < 0.01 0 / 2]0.027 0.027 2/ 2 < 0.01 0 / 2| 160 87 ~ 300 |4 / 4 ~ /
EE] FHE < 0.01 0 / 4]0.009| 0.003 ~ 0.015(4 / 4 < 0.01 0 / 4] 190 98 ~ 280 |4 / 4 ~ /
E&R )1 R HE 0.02 001 ~ 0022 / 2]|0.047| 0.039 ~ 0.054(2 / 2] 0.01|<0.01 ~ 0.01 1 / 2| 110 24~ 300 |4 / 4 ~ /
K& i SATHE 0.02 001 ~ 0022 / 2]0.068[ 0.067 ~ 0.069(2 / 2 < 0.01 0 / 1] 220 | 100 ~ 300 |3 / 3 ~ /
HiEI S 0.03 001 ~ 0044 / 4]0.036| 0.004 ~ 0.085(4 / 4 < 0.01 0 / 4] 770 | 170 ~ 1500 |4 / 4 ~ /
Sl FARABEE 0.02 |[<0.01 ~ 0.04|3 / 4]0.018] 0.011 ~ 0.026(4 / 4 < 0.01 0 / 4] 510 40 ~ 1500 |4 / 4 ~ /
eI FUIE 0.01 |<0.01 ~ 0.01 |1 / 2]0.011| 0.007 ~ 0.014(2 / 2] 0.01 0.01 1/ 1] 200 63 ~ 400 |4 / 4[0.046(0.038 ~ 0.054|2 / 2
HREF )1 FRKHE 0.01 1< 0.01 ~ 0.01 |1 / 2]0.006( 0.003 ~ 0.008[2 / 2 < 0.01 0 / 1] 59 8 ~ 120 |4 / 4 ~ /
=E R 0.02 0.02 2 / 2[0.036( 0.035 ~ 0.036|2 / 2] 0.01 0.01 2 / 2| 530 [ 160 ~ 920 |4 / 4 ~ /
£ FLERHE < 0.01 0 / 2]0.005[{<0.002 ~ 0.007 |1 / 2 < 0.01 0 / 1] 290 24~ 860 |4 / 4 ~ /
J\RJI J\BIE 0.16 0.16 1/ 1[0.14 0.14 1/ 1 < 0.01 0 / 1] 130 [ 110 ~ 140 |2 / 2 ~ /
B INEAE 0.01 0.01 1/ 1[0.043 0.043 1/ 1 < 0.01 0/ 1| 72 20 ~ 160 |3 / 3 ~ /
BRI TERE ~ / ~ / < 0.01 0/ 2 ~ / 0.042]10.030 ~ 0.047(4 / 4
Bl KiEE <0.01 0 / 1]0.018 0.018 1/ 1 < 0.01 0/ 1| 47 2.~ 79 |3 /3 ~ /
=) =15 <0.01 0 / 1]0.006 0.006 1/ 1 < 0.01 0o/ 1] 77 32 ~ 150 |3 / 3 ~ /
BN AR <0.01 0 / 1]0.022 0.022 1/ 1[0.01 0.01 1T/ 1 75 52 ~ 88 |3 / 3 ~ /
AN FE—AD)IE <0.01 0 / 1]0.012 0.012 1/ 1 < 0.01 0 / 1] 100 43 ~ 140 [3 / 3/0.032 0.032 1/ 1
AFI ROE 0.03 0.03 1/ 1[0.016 0.016 1/ 1[0.01 0.01 2/ 2| 140 87 ~ 220 |3 / 3]0.22 0.22 1/ 1
=) G <0.01 0 / 1]0.023 0.023 1/ 1[0.01 0.01 1/ 1| 50 20 ~ 80 |2 / 2 ~ /
FI| =I5 <0.01 0 / 1]0.006 0.006 1/ 1 < 0.01 0 / 1] 130 [ 100 ~ 150 |2 / 2 ~ /
fERANI EiEE <0.01 0 / 1]0.024 0.024 1/ 1 < 0.01 0 / 1| 140 [ 100 ~ 170 |2 / 2 ~ /
S TRIE 0.01 0. 002 0.01 1 0.004
GE) 1 k. nOKIFHETREULDORERT. n[ERRAEHRTT,
2 FHEFIRETREULLOBHETFHECFERMFEHETT .
3 KIGE#H (B 100mL) ZFRE. BEfildmeg /LTY,
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Y | Bbh~BK |k / n| EH BN~BX |k / n|FY | Bh~BK |k / n|FEH | BM~FBK [k / n
BEE (1) |Zbh8h%E 0.02 [<0.01 ~ 0031 / 2[o0.004]0003 ~ 0005[2 / 2] 85 |50 ~ 15 [3 / 3] 330 ] <1 ~ 980 [2 / 3
BEEE (1) |k 0.02 [<0.01 ~ 0021 / 2[0.004] 0003 ~ 0005[2 / 2| 41 | 1.5 ~ 7.3 |3 / 3] 13 1 ~ 33 |3/ 3
BEEE (2) |Fo¥afusk <0.01 0 / 2|0003]0002 ~o0003[2 / 2] 30 | 1.4 ~ 433/ 3] 5 <1~ 12 |1/ 3
EEEE (2) |ELESHE 0.01 [<0.01 ~ 0.01 |1 / 2[0.003]0002 ~ 00032 / 2| 42 | 1.7 ~ 60 (3 / 3] 5 <1~ 12 |1/ 3
wiEE TR H#h % <0.01 0 / 2| 00040002 ~o0005[2 / 2] 30 |09 ~ 61[3 /3] 2 <1 ~ 5 |1/ 4
EiEE Bi%in sk 0.01 [<0.01 ~ 0.01 |1 / 2[0.007]| 0003 ~ 0.010[2 / 2| 52 | 1.3 ~ 9.3 |3 / 3] 17 2 o~ 47 |4 / 4
ST BHAIEAS 0.06 | 006 ~ 0.06 2 / 2[0.028|0024 ~ 00312 / 2| 80| 25 ~ 12 [3 /3] 120 <1 ~ 360 [3 / 4
DEE S i 0.04 [<0.01 ~ 0.06 1 / 2][o0.011]|0007 ~0.014[2 / 2] 11 | 6.6 ~ 17 |3 / 3| 47 1 ~ 160 [4 / 4
BT ER % 0.03|0.01 ~ 0042 / 2] 0.009 0.009 2 /2| 13|47 ~ 22 |3/ 3] 28 5 ~ 81 |4 / 4
AERE OB < 0.01 0 / 2|0007[0005 ~ 00092/ 2] 10|19 ~ 25 [3 / 3] 16 1 ~ 35 |4/ 4
AEEE AR 0.02 [<0.01 ~ 0021 / 2[0.006| 0004 ~ 00072 / 2| 81 | 1.2 ~ 18 [3 / 3| 36 2 9~ 18 |4 / 4
HBETRE 0.01 0. 002 0.1 1
GE) 1 k/ n DKIZTHMETRIEULDRIAE T, n(XBRBRAEKTT,
2 THERETREULOBBEHEDEREHETT,
3 KXEB&E#H (@ 100mL) . ¥y BB 7 1 )la (ug/L) ZBE. Biildmeg /LT,




